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SECTION-A
Q1| Questions | A B G D |
MS-ACCESS
Different attributes in two different tables Mutually |
L. | having same name are called: Synosym Homonym Acronym exclusive |
2. | Customers, cars and parts are examples of: Entities Attributes Cardinals Relationships
3, :g;'?‘m of the given is also known as control Sort key Composite key | Candidate key Primary key
4. | Acollection of related fields is called: Character Record Database File
Which of the given is used to retrieve data from
5. | database and represent it to user in a Report Form Query Table
formatted way?
6. | Which wild card replaces one character only? * ? ~ > I
18]
C-LANGUAGE {2
7. | The value of C expression 9/5*2 iis: 36 4\ 0.9 0 2
How many bytes are occupied by the AN Z
8. statement : float a,b; Al % 4 B 16
. Je Bitwise Binary Unary
9. | Logical NOT operator, denoted by ! is a: M e i e
7
10. | The .exe file is produced by? Q g? Linker Loader Compiler Interpreter
Which of the given is the native la of Machine
11 computer? \ C-Language Pascal language DOS
12. Lh: ctm?:?aigd :sendlng a ent to a sending filtering daliveding ing
13, ';P::ulgc:lha ;2 ;he given loop is not available in g wonll while do while for
14. | The case block ends with: End select End case break Case Else
5. | o= tenctions iedfor-Jownt. e oW B | gl conio.h math.h inout.h
a8 c@ pakcity.org
VISUAL-BASIC 2 g
7. E?;:fi:s ‘ti:(:ru 38;4, which of the given one A<>B A<B ASB A>=B
8. mu'l:gh of the given is valid assignment 100=a cvd=ath a=100 4=6
9. ‘;‘;‘;g',,dggm’s are used o cOmpare | pjpmetic Logical Syntax Relational
10. | The expression 3 mod 5 has a value equal to: 3 5 0 0.6
11. \;ﬁ::g:wggggtg r is only used for string Plus sign (+) Underscore (—) | Ampersand (&) “and”
: Continuous Running Nested Infinite
12. | The loop that never ends is called: loop loop loop loop
13. | One execution of loop is known as: iteration cycle Duration Test
Which statement Is used in For-Next loop for
14, early termination of loop? Exit Exit Do Exit For break
15. ;V:eighhl:lf?ﬂle given is used for making two way f-alse i Nested if sl
314-423-1A-13000 * % %
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SECTION-B
2. i gUrfi-te s!'tl]ort ansu;ers to any Six parts. MS-ACCESS (6x2=12)
). Define the term data integration. vi. Differentiate bet f )
i;: g\!hat is the purpose of views in MS Access? vii. Write any t:ro gdv\::spag%rsn;? ES;;?OH'
o Vﬁ:‘"lne' the term entity. viii. Write use of OLE object in MS Access.
; atis refe!'gntlal integrity? ix. List different layout of form.
V. Define transitive dependency.
3.  Write short answers to any Six parts from “C-Language” OR “Visual Basic”. (6x2=12)
_ . c-LANGUAGE ‘ Visual Basic
i Write 'the rg!e of preprocessor directive. i Define visual programming.
ii. What is main functlon?_ ii.  Whatis default Event handler?
ii. Deﬁne bug and debqgglpg. iii. Describe Mouse Move Event.
iv. Which type of error is difficult to trace and why? iv.  Define Got Focus Event.
v. Write the output of_the code; v.  Discuss cls method of Form.
Printf( “value=%d" ,4-I); vi.  What is Caption property?
vii. Differentiate between properties and
. - methods.
vi. Describe L value and R value. viii. Discuss the method of assigning properties at
run time.
) . ix. Define Hexadecimal values from property
vii. What will be the value of xand y ? If x=7: window.
T n Y=x++;
viii. Find the errors:  Int a,b=20; Printf {“%d”,b};
IX. llustrate difference between text and binary streams. @
4. Write short answers to any Six parts from “C-Langu e@)OR “Visual Basic”. (6x2=12)
_ C-LANGUAGE & %Q Visual Basic
i. Write down the use of “getch” function. 0%39 Write two advantages of list Box?
li. What is the use of format specifiers in C langua @ il. How Combo box is used?
'ﬁ%}t iii. What is image control?

iii. Determine the output of the following code seg
iv. In which situation scrollbar is used?

Void main
0 @@ v. How line control is used?
O

{ o}
- m. vi. Whatis timer?
prfntﬂ ,,555 ,l,,t b vii Why loops are important in programming
printf (“999"); language in VB.
printf (“In 444"); viii. What is frame?
}
iv. How are instructions exe in sequence structure? ix. What is Active x control?
v. Determine the output of the following code segment:
if(2==4)
printf(“PUNJAB");
else
printf{“KPK"});

vi. Write the following expression in C:
w is either equal to 6 or not greater than 3.
vii. Write the syntax of while loop.
viii. Define infinite loop.
ix. Convert the following for foop into while loop.
for(i=l; 1 <=5ii++)

printf (“ok”);
SECTION-C
Note: - Attempt any One question, MS-ACCESS (8x1=8)

5. Define database model. Explain different types of database models.

6. Explain physical Database design process. 3 k 5
SECTION-D C@ a Ci or
Note: - Attempt any Two questions from “C-Language” OR “\isual-Basic”. p ty 9 (8x2=16)

C-LANGUAGE
7.  Whatis control structure? Briefly describe the basic control structures for writing programs. 8
8. Write a program in C-language to print the given series. 0 3 6 9 12 15 by using loop. 8
9.  Write short note on the following: 8

(a) Functions without arguments. (b} Functions that return a value and accept arguments.

VISUAL BASIC
7. What is control structure? Briefly describe the basic control structures for writing programs. 8
8.  Write a program in VB language to print the given series. 0 3 6 9 12 15 byusingloop. g
9.  Write short note on the following:

(a) Functions without arguments (b) Functions that return a value and accept arguments

Please visit for more data at: www.pakcity.org
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SECTION-A

Q.1 Questions A B C D
MS-ACCESS
How many table views are available in
1. | Microsoft Access? . 5 2 4
2. | Arecord is a complete set of field. Distinct Related Designed Natural
Different attributes in two different tables Mutually
3. | having same name are referred to as: Synosym Homomym Acronym exclusive
4 An entity related to itself in an ERD model Recursive One-to-Many | Many-to-Many One-to-One
" | refers to: relationship relationship relationship relationship
5. | The foreign key is found in: Parenttable | Dependenttable Pivot table Index table
6. | Which of the given may be a temporary file? Master file Transaction file Backup file Random file
C-LANGUAGE ()
7 | Memory is: allocated to a local variable atthe | oo vion vction definition ——
time of its: N\ A
Which of the given function is used to write a NN
8. | stingtoa fle? pus2i L) pute) | fputs) figets )
) c ms Cand C++ Turbo C Turbo C++
9. | Turbo C++ can compile: ) Programs Programs only | Programs only
In which loop the condition comes after the (0~ Y .
10 | oy of tiedaon: - {E) While Do-while While wend For
. ) o
11, | Which of the given is valid case mtw SRso I: Casexey: Clisé"ap’ Case 2.5:
switch? L
12. | Escape sequence \\ is uso{d\ New line Backslash Space Tab
A
) o Temary 3 ;
13. | The logical not operator denoted by !, is a: operator Uniary operator | Binary operator | Bitwise operator
14. | a+ = b is equivalent to: b+=a a=1b a=a+b b=b+a
15. | Void occupy how many bytes in memory? Zero One Two Four
OR : -
oS pakcity.org
VISUAL-BASIC L g
7. Memory Is. allocated to a local variable at the Declaration Destruction Definition First reference
time of its:
8. | Which of the method will close a file? Close all Append Close Exit
9. | Visual Basic can compile: C++ Programs Vipsrt:):gg;ssic C Programs Java Programs
In which loop the condition comes after the :
10. body of the loop? While...wend Do..Loop..while While For..next
11. | A project file is saved with the given extension: .vbp frm .vb frvb
Which control is used to display text or to
12. accept user input? Label Text box Button Connector
13. | To exit Visual Basic: Press Alt+Q Press Alt+F4 Alt+F6 Ctrl+F4
Lists of commands such as Open, Print and Exit
14. can be found on: Toolbar Tool box Menu bar Explorer
15. | Visual-Basicis a: Front-end Back-end Reformer Designer

313-422-A-10660 * %
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SECTION-B
2.  Write short answers to any Six parts. MS-ACCESS (6x2=12)
i. How would you differentiate between tables and views?  vi. What is meant by mutually exclusive data?
ii. How would you define End User? vil. Write down any two main uses of reports.
lii. How would you present the concept of Data Volume and viii. How would you distinguish between form
usage analysis in physical database design? and sub-form?
iv. How can you define about relationships in ERD? ix. What are use of toolbars in MS Access?

v. Differentiate between Entity Integrity and Referential Integrity?

3. Write short answers to any Six parts from “C-Language” OR “Visual Basic”. (6x2=12)

C-LANGUAGE Visual Basic
i. Write down role of define directive. i. Define comboBox control.
iil. Write down the use of delimeters. ii.  List down any four form methods.
iii. Define variable declaration. iii. What is use of listbox control?
iv. How character constants are written in C-Language? ~ | iv.  Differentiate between event and event handler.
v. Trace errors from following code; v.  Write down common properties of textBox.

(®)) int marks=80 vi. What is meant by context menu?

B . Char ch vii. Define PictureBox control.

- Vi Write down a C statement that initialize a character | viii. Define project explorer.
= variable with z. ix. How many ways to get input in visual basic,

O vii. Define format specifier. write their syntax?
=< viii. Write down output of following code:

g printf (“Name\t Roll No\n marks”);

§ ix. Trace errors from following code; @@

= Char ch @

S ch = Getch(); %0
4+ 4. Write short answers to any Six parts from “C-Lan, OR “Visual Basic”. (6x2=12)

= C-LANGUAGE () Visual Basic
O i. Whatis compound statement? %S i. What is relational expression?

(U §i. Find the output of code written below; @ ii. What is the use of Goto statement in VB?
© int Z=II; iii. Define protest loop.

o if (Z%2==0) S iv. How Do....Until..... Loop works?

o printf (“even” v. Define module?

= else vi. What are procedure level variables?

. printf (“ vii. Define function procedure?

O iii. What s sentinel loop? vili. What is meant by the term pass by value?
“= iv. Find the output of code written below. ix. What is the use of Exit Sub and Exit Function?
= int n;

82 for (n=0; n<5; n++)

> printf (“% c”,’a’+n);

© wv. Convert the following code into for loop;

% int ¢=0;
ko while (¢ < 10)

a printf (“% d”,c);
c=c+2;
}
vi. What is function header?
vii. What is lifetime of a variable?
vili. Why return statement is used in functions?
iXx. What is text stream?

SECTION -C
Note: - Attempt any one question. MS-ACCESS 8x1=8
5.  Write down four major components of database system in detail.
6. What is Query? Discuss different types of queries.

SECTION-D 3 $
Note: - Attempt any two questions from “C-Language” OR “Visual-Basic”. O@ pakcity.org %osxzﬂs

C-LANGUAGE
7.  Write down the step-by-step procedure to create a C-program? 8
8. Write a program in C-language that accepts three numbers from user and display the largest number 8
using nested if.
9. - What is nested loop? Write its syntax and explain its working with flowchart and example. 8

VISUAL BASIC
7. How can we create a project in VB? Explain its different steps. 8
8. Write a program in VB that input three numbers by using three text box and display the largest number. 8
9. What is nested loop? Write its syntax and explain its working with flowchart and example. 8
313-422-A-10660
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Q.1 Questions A B C D
MS-ACCESS
Which data type can be used to define a
1. | field that contains data content such as | Hyperlink Memo OLE Object | Auto Number
chart, picture or graphic object?
A  database consists of various . o .
2. components i called: Tools Properties Entities Objects
3, gIhJth fomyor dependendy sremved Functional Transitive Associative Partial
Organizing the database in computer disk : : ; g ; ;
4. storage is done in: Logical design | Physical design Analysis Implementation
5. | The foreign key is found in: Parent table |Depen: ble| Pivot table Index table
: . el
6. WHICh.DIthe grven, ity PE A TRIPOIY | bt <} Transaction file| Backup file Data file
ﬁle? “ D
Q w
C- AGE
. O . |
7. | The loop which never ends is called:  (\ -\ Infinite loop | Running loop |Continuous loop| Nested loop
<X
8. FllllC‘tJOI.l PEOOHRR for b@ﬁwuons Source file Object file Image file Header file
are specified in:
9. | The output of compiler is called: Library Code | Source Code | Linked Code | Object Code
10. Am?ﬂ:'er .tPfIm OH  compiie: Dk 8 Sequential Selection Repetition Iteration
decision is:
The function that is used to display output g ;
11 on screen is called: printf scanf pow display
Which escape sequence is used to erase a
1% character left to the cursor position? ¥ wel L \f
The data type which is used to store .
2. numeric value with no decimal point? char ut float double
Which of the given operators has lowest _ L
14. z . 2 S ! +
precedence? % kit @
2 Windows Solaris Unix 0S/2 Operatin
15. | C was designed to write program for: Operating Operating Operating S pe g
ystem
System System System

313-421-A-14000
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(SECTION-1)
MS-ACCESS
2.  Write short answers to any Six parts. (6x2=12)
i. Write any two responsibilities of a database administrator. vi. Define Database Object.
ii. Define Primary Key. vii. What is linking in MS Access?
iii. Enlist different types of relationships. viii. Differentiate between “ * ” and “?” wild card.
iv. What is the major objective of physical database design? ix. How does an input mask help the user to enter data?
v. Which database object stores the data in database?
-LANGUAGE
3.  Write short answers to any Six parts. (6x2=12)
i. Write use of Turbo C++. viii. Trace the output.
ii. Why does machine language program execute faster? if{l ==2)
iii. Write short key for compiling and running a C-Program. printf(*“hello”);
iv. Differentiate between declaring and defining a variable. else
v. Define Logical Operator. printf(“welcome”);
vi. Write two rules for naming variables in C. ix. Write down errors in the following:
vil. Write output of the following code: int x,y;
int 3=1, b=6; x=15
if(a+b<7) y=10
printf(“%d”, a); if
else
printf{“%d”,b); )
C-LANGU O
[
4.  Write short answers to any Six parts. % 6x2=12)
i. Enlist the symbols used as format specifier for differ:ﬁ{(‘}i@ vi. Write the output of the following program
types. @ fragment:
ii. What is meant by escape sequences? @ int k=0;
ili. What is format string in scanf function? ) while (k<=5)
iv. Find the errors in following code se {
xz3 '9) }’=5-5 . (13 0, ”»
for(i =1; i <=10, { +) Eﬁff( %3d%3d\n",k,10-k)
printf(“%d and % /", x,y) ) ;
V. Determine the output of the following code segment, assuming  vii. What is difference between function declaration
mis3andnis 5: and function header?
‘;"’(‘F“; 20sek) vii, Define Global Variables.
for(j=m;j>0; - -j) ix. What is meant by Binary Stream?

{
pl’intf(“* !9);
}
printf(*\n");
SECTION -1
MS-ACCESS

Note: - Attempt any one question.

5.
6.

Define Database. Discuss the objectives of the databases.
When is a relation in first normal form? Explain with example.
SECTION - 111
C-LANGUAGE

Note: - Attempt any two questions.

7.
8.
9.

o@ pakcity.org %o

What is a programming language? Discuss the two main categories of programming languages.

Define and explain If-else Statement.

Write a program that prints even numbers between (1 to 100) using for loop.

Please visit for more data at: www.pakcity.org 313-42+-A-14000
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that circle in front of that question number with marker or pen. Cutting or filling two or more
circles will result in zero mark in that question.
(ATTEMPT EITHER FROM * MS- ACCESS & C-LANGUAGE ’' OR FROM ¢ MS-ACCESS &
VISUAL BASIC )

MS - ACCESS
Which data type is the default type?
{A) memo (B) number (C) text (D) auto number
Which of the following is correct association?
(A) file=column (B) record = row © field = row (D) record = table
Which of the dependencies is removed in 2NF?
(A) functional (B) transitive (C) associative (D) partial

All the hardware costs are considered during

(A) project planning (B) requirement analysis (C) feasibility study (D) data analysis
A table should have:

(A) primary key (B) secondary key (C) composite key (D) sortkey

Which of the following is also known as data set:

(A) record (B) field ©) file (D) module
C-LANGUAGE

Function used LuiiPNglRstring to a file is :

(A) A ER) f gets() (D) fputs()

Multiple aymgmcElMIPTUnclions are separated by: @

(A) comWERY semicolons (© (D) commas

In a‘for* statemedamis expression is executed only o

(A) lesk (B) initialization % validation (D) increment / decrement

Which statementWilhuses a loon taterminate carly?

(A) break terminat exit (D) stop

If a relational expressiomasawrse, it has va %

(A) 1 (©) 2 (D) 0

The case block ends withs @

(A) end select (C) break (D) default

An escape sequence begin character.

A W\ \ GCA ©)

a+b is equivalen

(A) b+=a (B) a=+b (C) a=a+bh (D) b=b+a

The “exe” file is produced by

(A)  linker (B) loader (C) compiler (D) interpreter

' T a@: pakcity.org %‘:

To represent current location of scroll box in scroll bar, we use property:

(A) value (B) width <) win (D) index
Multiple arguments te functions are separated by:

(A) comments (B) scmicolons (C) colons (D) commas

In a‘for’ statement, this expression is executed only once.

(A) lest (B) initialization  (C) validation (D) increment / decrement
A loop within a loop is called:

(A) nested (B) inner (9] outer (D) upper
Relational operators are used to:

(A) add (B) multiply ©) increase (D} compare
Symbol <> in decision structure means:

(A) lessor equal to (B) greater or equal to (C) not equal to (D) equalto
The default message box style is :

(A) Yes No (B) Ok Only (C) YesNo cancel (D) Retry cancel
Integer data type occupies the number of bytes:

(A) 12 (B) 16 (C) " (D) 1

Methods characterize an object’s

(A)  behaviour (B) appearance (C) value (D) style

Please visit for more data at: www.pakcity.org
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SUBJECTIVE
Note:- Either from “ MS-Access & C-Language” or from “MS-Access & Visual Basic”
( Section —1)
MS —~ACCESS
;. “frlte short answers to any Six parts: (6x2=12)
i Distinguish between DBMS and data base. vi. When does an insertion anomaly occur?
ii.  What is the use of data dictionary? vii. What is the use of scrollbars?
iii.  Define foreign key. viii. Define the term degree of relation.
iv.  What is the purpose of analysis? ix. What is a switch board?
v, When is a relation in 3INF?
C-—LANGUAGE
3.  Write short answers to any Six parts: 6x2=12)
i.  What is high level language? vi. Find the error in the following code:
Void main ()
int ¢=7
Printf (“%f",C,
ii. Define object code. vii @m purpose of “%c “ format specifier.
iii. What is arithmetic expression? te the following code after correction.

ﬂoat f=3.14
@ printf (“%d” , f;
iv. Write a statement to declare on integer variable % ix. What is the outpnl of following code segment?

i initialized to -1 Printf (“% .3 £, 1.2);
v. Determine the output of following code %S

int b=09;
b=0b2; @
printf (“%d ™, b); <o
Write the use of operators.
OR

VISUAL BASIC
3. Attempt any Six parts

(6 x2=12)
B Where comments can be added in program? vi.

What do you know about class library?

ii.  Define assembly. vii. What does an object consist of?
iii. How variable is declared in VB? viii. Why is the user interface important part of software?
iv.  How can you place a control in the center ix. Why is it necessary to test a program?
of the form?
v.  What is design time and run time?
4. Attempt any Six parts (6 x2=12)
C - LANGUAGE
1. What is control structure? vi. What will be the output of the following.
Char C~="A’;
do
{
Printf (% C” , C);
C=c+2,
}
While (CL="1");
ii. Convert the following code to an equivalent if — clse vii. What is meant by scope of variable?
statement. Answer =(x>y)?x*y:x+y;
iii.  What will be the output of the following? viii.  Give an example of user defined and built in function.
int X=10;
{x%2= =0)? Printf C “Even™) : printf (*odd™),
iv. What is counter control loop? ix.. What is meant by fgets function?
V. Convert the following code into while loop.
int it

for(i=1; i < =10,

{

o% pakcity.org %o
Printf (“\n Pakistan');

) Please visit for more data at: www.pakcity.org
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Attempt any Six parts

4.
i What is if statement?
ii. Why if — else statement is used?
iti.  DilTerentiate between Do ... Loop and a
For .....Next lcop?
iv Define loop.

What is nested loop?

c@ pakcity. orgl%c

Note:- Attempt any One question.

Define database system. Discus

What is filter? Discuss differ

Note:- Attempt any Two

ok

Sahiwal Board-2019
OR

(6 x2 =12)

VISUAL BASIC

vi, Distinguish between 1-Dimension and 2-Dimension array,
vii. How subscript variable are written?
viii. Define string.

ix. How value is returned to the function?

) &P
@%@

Section-1I

or components of database system. 8
s of filters in MS Access. 8

C-LANGUAGE

What are Jogical operators? Discuss different logical operators with truth table. 8

8. Define nested if statement. Explain with the help of diagram and example. 8
Write a program that print odd numbers from 11 to 49 using loop. 8
OR
VI BASI

Note:  Attempt any Two questions:

What are logical operators? Discuss different logical operators with truth table. 8

Define nested if — then statement. Explain its working with the help of diagram and example. 8

Write a program that print odd numbers from 11 to 49 using loop. 8

Please visit for more data at: www.pakcity.org
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e
(11

vi.

vii.

viii.

ix.

X1,

\ii.

xiii.

Xiv.

V.

Vil

viii,

X1,

Xil.

Xiil.

Xiv.

Xv.

Note: You have four choices for each objective type question as A, B, C and D. The choice which you think
is correct, fill that circle in front of that question number with marker or pen. Cutting or filling two or more
circles will result in zero mark in that question.

(ATTEMPT EITHER FROM ¢ MS- ACCESS & C-LANGUAGE ’ OR FROM * MS-ACCESS &
VISUAL BASIC *)

The process of arranging data in a logical sequence is called

(A) sorting (B) summarizing © data capturing (D) classifying

‘T'he foreign key is found in

(A)  parenttable (B) pivot table (C) dependent table (D) index table

Which of the following is used to associate entities with one another?

(A) attribute (B) relationship (C) identifier (D) object

In relational database, a table is also called

(A) tuple (B) file © schema (D) relation

Microsoft access saves the database with the extension

(A) .msdb (B) mdb (9] .madb (D) .mxls

T'he default field size of a text data type field is

(A) 2 (B) 5 © 20 (D) 50
C-LANGUAGE

I'he output of the compiler is

(A)  library code (B) linked code %@od (D) source code

The number of bytes used by int data type in C 18 @

(A) 2 (B) 4 (D) 8
Which of the following escape sequence can be ust n a new hne inC?
(A) \a (B) \b (D) \n

The programming structure used for a computér.taking a dCCISlOH is

(A)  sequential (B) seleg] & , ) repetition (D) iteration
Switch statement is an alternative of
(A) nested if -else (B) else © for loop (D) while loop
Which of the following is ca nter loop?
(A) while loop do - while loop (C) for loop (D) nested loop
Which statement is u ove the control to the start of loop body?
(A) break (B) continue (9] default (D) switch
The first line of function definition is known as
(A) [functionbody (B) arguments (C) function header (D) return type
Which of the following function is used to copy a string to an array of characters?
(A) strepy (B) strpey (©) strycp (D)  copy
OR S . .
. VISUAL BASIC a@ pakcity.org %ﬂ
I'he rectangle symbol in a flow chart indicates 4 $
(A)  condition (B) input ©) process (D) output
All the following are examples of control except
(A) property (B) label © text box (D) button
The naming prefix for a label control is
(A) lab (B) Ibe ©) leb (D) 1bl
Which of the following is not a control structure in visual basic?
(A) sequence (B) iteration (© selection (D)  repetition
Which of the following is a logical operator?
(A) AND (B) > (©) - (D) =
The visual basic project is saved with extension
(A) .Exe B) frm (C) .vbp (D) .com
The naming prefix for a text box control is
(A) lab (B) txt (9] tex (D) 1bl
The MOD operator in VB is used for
(A) exponentation (B) division (C) integer remainder (D) multiplication
Variable and constant names cannot contain a (n):
(A) period (B) letter (©) underscore D) number
310- 418 -9000
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(Section =1)
2. Write short answers 10 any Six parts: (6x2=12) .
i.  Delinc data file, vi. What is meant by referential integrity?
ii.  List any two file types from usage point of view. vii. Differentiate between databasg anc_i table.
iii.  Write down the basic purpose of using views. viii. What is the use of datasheet view in MS. Access?
iv.  What is the purpose of analysis? ix. Differ between combo box and list box.
v, Describe the term homonym.
3. Write short answers to any Six parts: (6x2=12) _
i Why does machine language program execute faster? vi. Write output of following code
Int x=4*5/2+9;
Printf(*“ %d” ; x) ;
ii.  Write shortcut keys for compile and execute a C program.  vii. }Nhy is the ampersand (&) used in scanf
unction.;
iii.  Deline syntax error with example, viii. Trace errors in following code.
void main ()
@/ é 40 ;
XxXt+ty=1z
@ print f (% d”; 2)}
iv Deline keyword with example. % Write the output of following code.
@ ita,b, ¢;
N
b=10;
@ c=a+b;
o print f( “Thesumof a+b=%d",C);
v.  Write the use of operators.
OR
VISUAL BASIC
3. Aucmpt any Six pa (6x2=12)
i.  What is purpose of language processor? vi. Define Do — until loop.
ii.  Define propcnies window. vii. Differentiate between inner and outer loop.
iii.  List four events in Visual Basic. viii. Write about manipulation of array.
iv.  Write the purpose ofasmgnment operator in VB ix. List three uses of array.
v.  Define logical operators in Visual Basic.
4.  Attempt any Six parts (6 x2=12)
What is control structure? vi. Convert the following loop into do — while loop.
int x;
for(x=0;, x<=10; x ++4)
%pakolw OTQ%G printf (“%d” , x % 2);

Determine the output. vil.
imx=1,y=2, z =3;

Ir ((x=wy) (y=mz) (z==2))

print [ (* yes”);

clse

print f (*“No”);

IFind errors viii.
int x ;

If(x=1 or 2)

print f (" %d”, x);

Deline post - test loop. ix..
Determine the output.

Inti=1;

While (i< 10)

{
print [ (*
}

%d”, i++);

Differentiate between actual and formal parameters.

What is the purpose of fgets ( ) function?

Compare local variable and global variable.
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Attempt any Six parts (6 x2=12)
VISUAL BASIC
llow arc instructions executed in sequence structure? vi. Write the difference between pre-test and post — test loops.
Determine the output of the following code vii. What is meant by user defined function?
DIM K As Integer, m As Integer
K =7
m - K mode (k-3)
primK & “ And” & m
Find crrors in the following code viii. Differentiate between local and global vanable.
DIM Z As Integer
7 =49
If Z mod 2 equalto 0
then print *“ Even”

What is nested loop? ix. Whatis a text file?
Dectermine the output,
For 1 =1 to 6 step 2
Print |

Next

Attempt any One question. q}ig

) nts in detail. 8
es of queries. 8

Section-11 <>@<i®

Define data modeling? Describe its
What is query? Explain any thre

C -LANGUAGE

Attempt any Two questiofs
Write down the rules for naming variables in C — Language. 8
Write a program that inputs a character from user and displays whether it is vowel or not
(using switch statement) 1+1+1+1+4 =38
What is while loop? Explain its working with the help of example and flowchart.

2 +2 +2+2=8

: : OR
o@ pakcity.org %o
“ £ A4 BAS

Attempt any Two questions:
Write down the rules for naming variables in visual basic. 8
Writc a program in VB that inputs three numbers from user and finds the maximum number
among them. 1+1+6= 8

What is while — wend loop? Explain its working with the help of an example and flowchart. 8
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